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Assunto: Sistema de equações 
 
Considerando o número de parcelas iguais a N e o preço inicial a P: 

1ª possibilidade: N . P 

2ª possibilidade: (N + 5) (P – 200) 

3ª possibilidade: (N – 4) (P + 232) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Item B 

i) igualando 1
a
 e 2

a
 

NP = (N + 5) (P – 200) 
NP = NP – 200 N + 5 P – 1000 
5P = 200 N + 1000 
P = 40 N + 200 

ii) igualando 1
a
 e 3

a
 

NP = (N – 4) (P + 232) 
NP = NP + 232 N – 4P – 928 
4 P = 232 N – 928 
4 (40 N + 200) = 232 N – 928 
160 N + 800 = 232 N – 928 
72 N = 1728 
N = 24 


